o FUA A WA F W AT F qfed 7= 16 + 2 5t #

o yE-w1 et @9 F AR KU MW Fw Tw F 9w IW-yEH F qE-ys W fad |

o FUW WY W A & W W77 A 36 wH 2 |

o  FHUU WA & I @A Y FA W UEH, WA W HEE avd ol |

°  IW WE-TI W UgA & fau 15 fowe W wyy fem o R ) wR-w W faww g &
10.15 & fF @ 1 10.15 33 & 10.30 ¥ 9% o0 ¥AG w401 & 03 R
W Ay F A 3 I-yfew W oaE Iwm A faan

e Please check that this question paper contains 16 printed pages + 2 Maps.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 36 questions,

e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer
on the answer-book during this period.
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SUMMATIVE ASSESSMENT - II

amifsie fasm=
SOCIAL SCIENCE

Fuffia g7 : 3 w02 AHfyFas 3% - 80

Time allowed : 3 hours Maximum Marks : 80



g @y :

(i)

(i)

(iie)

(iv)

(v)

(vi)

(vii)

F7 36 577 & | w9 5v7 HEd F o
ThF T F FF TV F A e w4

w7 FEm 1 F 16 7% FaEeIT 57 (@-US HE ¥ F | NEE agaweny
T % WY 97 fAmew T w1 7F fAwey # HuA Ia-yhaar 7

fafam |

797 e 17 7 29 % & v dtA-dia e F & 1§ 8 59F 59T @
I 80 V=t @ fus ¥ T8 # TET |

Jv7 HEW 30 T 34 7% F yv7 AOW-AW HF & & [ T B ¥AT IO F
397 100 ¥ § dfus 3 TE m a0Ew |

Y7 WS 35 TAfa7 TSl 5 2 e @1 dawa @ & s wv7 95w 36
AT FE 377 3 3% & yme #E

1 gT AEAfEl F 3E I0-haE & HeA T #fa |

General Instructions :

(i)

(i)

(iii)

(iv)

(v)

(ve)

There are 36 questions in all. All questions are compulsory.
Marks for each question are indicated against the question.

Questions from serial number 1 to 16 are Multiple Choice
Questions (MCQs) of 1 mark each. Every MCQ is provided with
four alternatives. Write the correct alternative in your Answer-book

Questions from serial number 17 to 29 are 3 marks questions.
Answers of these questions should not exceed 80 words each.

Questions from serial number 30 to 34 are 4 marks questions.
Answers of these questions should not exceed 100 words each.

Question number 35 is a map question of 2 marks from History
and Question number 36 is a map question of 3 marks from
Geography.

(vii) Attach the filled up maps inside your answer book.



frfafaa dfedl § & fass w=ria 99 & U5 =@ ¢ & o= e 2
(A) faz= dfe

(B) wwrg & #Hfa

(C) &= == Hfy

(D) 1832 W Fqaqfa e

R
frfafga § ® 30 O3 <o ) 9 Us faiwa 787 R 2

(A) = ¥dE 1939 7 I &30 |

(B) & ®@m T &7 ¥ o Al faeh |

(C) W ¥dew & WEN WA TER F HewlE & wdl § 4 )
(D) W e & 5% T d9E 4

Under which one of the following treaties was Greece recognised as
an independent nation ?

(A) Treaty of Vienna
(B) Treaty of Versailles
(C) Treaty of St. Germain

(D) Treaty of Constantinopole of 1832
OR

Which one of the following is nmof the characteristic of Hoa Hao
movement ?

(A) It began in 1939.
(B) It gained great popularity in Mekong Delta area.
(C) It was led by officials at the imperial court.

(D) Huynh Phu So was a founder of this movement.



M AeEET f dsR T v o4 ?

(A)  wE=

(B) s w o3t =54 g ofeen
(C) =

(D) = 4 =¢ @

frofafma © & 59 faagsm & o =1 wge faasdt @ 2

(A) TH aF 9%

(B) . femm faas
(C) wH 9 fw
(D) E=F A

Which one of the fellowing was an ‘allegory’ of the German nation 7
(Al Marianne

(B)  Blindfold woman

(C)  Germania

(D} None of these
OR

Who among the following was intensely hostile to the monarchy in
Vietnam 7

{A)  Phan Boi Chau
(B} Liang Qichao
(C}  Phan Chu Trinh
(D) Huynh Phu So



4.

wfag Ts e mow W feafafon § 8 s das @ 2
(A) g A

(B)  wiwa el

(C) TAwEE A

(D) guM == aW

Who, among the following, was the author of the famous book ‘Hind
Swaraj’ 7

(A Mahatma Gandhi
(B)  Shaukat Ali
(C)  Jawaharlal Nehru

(D) Subhash Chandra Bose

frefafaa # & fem 1930 # faet & ‘gfim =i oefeues’ & sfer fen 2
(A) & ™

(B) =t dtwm seEes

(C)  wifsdrsht

(D) ed HiAEw T

Who, among the following, organised the dalits into the ‘Depressed
Classes Association’ in 1930 ?

(A)  Kanshi Ram

(B) Dr. B.R. Ambedkar

(C)  Gandhiji

(D) Alluri Sitaram Raju



Ei

Ei‘

feree wow § ot % P vEd et § Pl § # 9 heoweom
wal % W W 9 fe e 2

[(A)
(B)
()
(D)

T Fat
wI S
yardry 3
@A FwE

Which one of the following non-conventional sources of energy is
harnessed in the Parvati Valley near Manikaran in Himachal

Pradesh ?

{A)  Solar Energy

{(B) Tidal Energy

(C)  Geothermal Energy
(D) Wind Energy

frefafiga & 4 #lam s 3dm @@ =22 d@n § 3w W ged s f 7

(A)
(B)
{C)
(D}

T wE T
TE/TEET T
T T
TE I

Which one of the following industries generates the largest amount of
employment ?

(A)
(B}
()
()

Cotton Industry
Jute Industry
Silk Industry

Textile Industry



s @yl % Frofofion wgdl § @ wve P et don 8 & wE @ 2

(A}
(B)
(C)
()

feeedt it Sreraman
famedt 3 smamn
feeeht st wrad

anrrE st =g

Which one of the following groups of terminal stations is connected
with National Highway No. 8 ?

(A)
(B)
(C)
(D)

Delhi and Kolkata
Delhi and Amritsar
Delhi and Mumbai

Varanasi and Kanyakuman

frfafam et § @ #t9m we-agm § fafa & @od # 29 & 79 oeepf o=

L
(A)
(B)
(C)
(D)

= HER TR
CrigiEEs]
farymaTRAy 99
YRR 9A

Which one of the following ports is the premier iron-ore exporting
port of the country ?

(A)
(B)
(C)
(D}

New Mangalore Port
Marmagao Port
Vishakhapatnam Port
Paradip Port

frafafan ool & 8w o o sEfy a9 sieeE @ watam # 7

(A)
(B)
(C)
(D)

A st w¢ gl W osafa g R

3 wideH fawt mm qg W osnafE #@a
T A | e am wy g R
ieol R iucol B ol

!



10.

11.

Which among the following features is related to the long term
movements ?

(A} They are multiple issue movements.
(B} They are issue specific movements,
(C}  They have a clear leadership.

() There is no single organisation,

famfefaa oo # & fom vs § ug-Tdw =g § 7

(A)  FEET,
(B 3%
(C) =
(D) =

Which among the following countries has a one-parly system ?
{A) TLS.A.

By UK
(C)  China
(D} Japan

ArAiE & § s gul #oen) w9 § fefafen § 9 s v e s
i & ?

(A} F ofrEea

(B) ¥ % HIE T

(C) Tawi= ofEds

(D) = guR

Which one of the following is a better way to carry out political
reforms in a democratic country ?

(Al  Legal changes

(B) Empowerment of people
(C)  Constitutional changes
(D} Legislation reforms



12.

13.

14.

frfafmm # & 2 v fadma gbmed smm == & e & gt e 2
(A) =X FrAE wEs S T s

(B) &7 & et | frfam w3 R @ w

(C) s Th-drwafs T s w fre

(D) UF HWY 79 WOW WEA S & w6 |
Which one of the following is not a feature of foundational challenge ?

(A) It involves strengthening of the institutions and practices of
democracy.

(B} To keep military away from contrelling government.
(C)  Bringing down the existing non-democratic regime.

(D) To establish a sovereign and functional state.

Frafafian % @ o faforg woneht % s fafoee st 0
(A) % THEE TER R A FA R

(B) =% =afs faiw & woifas &7 &1 Som =0t #

(C) =% fou smavosmsd & oo &9 swmaves #

(D) 7% v W o #

Which one of the following is an essential feature of barter system ?
{A) It promotes local market.

(B) It spreads social field of an individual.

(C) It requires double coincidence of wants.

() It is an easy way.

dvdim & fosfafan 4 3 fam var & 20 sfas @rofam qu & 7
(A) 3R EW

(B) wm Tm

(C) fawraviter Zm

(D) fawfm 2w

I



15.

16,

Which one of the following type of countries has been more benefited
from globalisation 7

(4] Rich countries
(B) Poor countries
(C)  Developing countries

(D) Developed countries

%ﬂﬁwﬂﬁmﬁﬁaﬂﬁé‘ﬁmwm?}mmﬁﬁﬂ?
(A) s

(B) faeit =m0
) ==
(D)

Which one of the following Indian industries has been hit hard by
globalisation 7

{A)y LT

(B) Toy-making
(C)  Jute

(D) Cement

frafafaa o5 # & fem o sumand. o= fog = wom fem o 2 2
(A) TGS fafaes

(By  zmqem
(C) =
(D) g I9E

On which one of the following items is 1.5.]. used as a logo ?
{A) L.P.G. Cylinder

(B} Jewellery

(C)  Gold

()  Agricultural products



17.

18.

lgl

21.

T ¥ 1848 F ‘TEFEfedl # Fifd & W9E 1 9uiF waw | 3
FerE

e T W g A AEER S FEed 5 o weEied gw fen om fEE A
ToEl T oAU ST | 3x]=3

Describe the impact of “The Revolution of the Liberals' of 1848 in
Europe.

OR

Describe any three steps which were taken by the French to suppress
the movement inspired by the Huynh Phu So.

A @ owa e ¥ s @ qresten faw owew @ o 2 zgel wfew
|y Fifan | 3x1=3

How was history re-interpreted in creating a feeling of nationalism 7
Explain with examples.

Hr FAl wRE & oA oAq gy 49 # few owen T @ Aefm @ oo § 7 e
Fife | 3

How iz solar energy becoming popular in rural and remote areas of
India 7 Explain.

"B mA % owT Hiftd e & srgdTd wEn A meEeEge seem s

M 1" W wua # A el wfem qfe S Ixl=3
“We have to adopl a cautious approach for the judicious use of our
limited energy resources.”  Support  the statement with three
examples,

“fEet TE W % WP =R # T 3Es 0w a9 W oqEs ¢ 17 3w

i ofe A= T afem Fifew © 3xI=3
“Advancement of international trade of a country is an index to its
economic prosperity.” Support the statement with three arguments.



22, UWHfAE @ f&W WER 9N B T4 F Y W@E F@ € 2 A9 e afea ®We
Fifauw | Ix1=3
How do political parties shape the public opinion ? Explain with
three examples.

23. Al TEA HaEn &R Yen amfas Gyt § anies wftm 59 8 and
¢ 7 4= TEwon wfem ww @i 3x1=3

How are democracies able to accommodate social diversities ? Explain
with three examples.

24. amIT S s Fwaifie Fen & A d@m o & s S 3x1=3
Explain any three merits of democratic governments over the
dictatorship.

25. smfaw dwaifis =was & wwg avfegd @ v Efrd @ owe A 3x1=3

Explain the three major challenges faced by modern democracies.

26. "muﬁﬂﬁmmwﬁ,wqﬂfmﬁrﬁwﬁﬁzmh"ﬁﬁwwﬁp.
W w1 & fe B 15415=3

“Whether credit would be useful or not, it depends on the situations.”
Give two different examples in support of this statement.

27. “9mE & 7w s wed A ¥ and ff sfusin v offm & ¥ fow owm &
st e w el 3 1 @ s # ofy @9 sewon A one § e 3x1=3

“Most of the poor households still depend on the informal sector for
loans, both in rural and urban areas of India.” Support the statement
with three examples.

28, WRA ¥ IV QAT A IEHE A A TS F ARA FAC | 3x1=3

Explain three factors that gave rise to consumer movement in India.

29, AN H IGEs ® v fER yEw fEm oW @ 2 @9 3Tl wfed wmy
AT | ‘
Ix1=3

How are the consumers exploited in the marketplace ? Explain with
three examples.



30. “1830 ¥ Zv& T ¥ ¥ WG FAga Fa A9 | AW IEE @ IF FAA

# qfz Ffw | 4x1=4
sera

IH Wk 49 3 AT § oTpafedn & farasm # oweatEd ¥ mess & faw

fem wer ¥fa fFm 7 =v Ffaw 4

“The 1830s were years of great economic hardship in Europe.”
Support the statement with four examples.

OR

How did Japan and China inspire Vietnamese nationalists to drive
out the French from Vietnam ? Explain.

31, ¥TEAM WRWEA F INE WM WW & [Ew efed § sfemd G @ g @
e Ffam | 4

Explain the role played by tribal peasants in the Gudem Hills of
Andhra Pradesh during the Non-Cooperation Movement.

32. wiw § ¥uUTE TEEd A & fEw wen g aw R 7 3w owed # fE am
qlE F ™Y FET dx1=4

How do industrial units pollute air in India ? Explain any four points
in this regard.

33. “zAEA-TER 3N WEER TIAE W FE-FE AR T oy owd 2 7 5 am A
& e #faw dx1=4

“Pressure groups and movements exert influence on politics in a
variety of ways.” Explain any four ways.

84, ‘dvdmm’ st wfrendd ® wa 3 aftw ¥ A= @ R an A § mww w0 R
nifas faq 2 7 =y @ dx1=4

Explain four ways in which ‘globalisation’ and ‘the pressure of
competition’ has changed the lives of workers substantially ? Explain,



35. T TV — AN B, WA ¥ foU T TEiAE w@-amE (99 17) W EtE fau
M E | 3W AT F frefafad e 3 9e2 § wreiEn o I9% §9 A St
w g ¥ el w e 1+1=2
A, W HH, W GEER 1920 § 9RdE TEE FwEE & AfHavE g3 4
B. O9% ¥MW, @ SfekamEn 9 929 92t |

et
Fefafaa 72 #1 wWa & U @ 3= ToEifos wE-EEtE (3R 17) W3 98
# sifea #ifew 3k 3% 9w fafao . 141=2
(i) T — g WE 9 ¥ e 5 g9 w5 A feEE @ s T g
q

(i) Al — W ME W R W T T W AR e 2 41
Two features — A and B, are marked in the given political outline
map of India (on page 17). ldentify these features with the help of

the following information and write their correct names on the lines
marked in the map :

A. The place, where Indian National Congress Session of December
1920 was held.

B. The place. where Jallianwala Bagh incident took place.
OR

Locate and label the following items with appropriate symbols on the
same given political outline map of India {(on page 17) :

(i) Champaran — the place, from where the movement of Indigo
planters was started,

(it)  Bardoli — the place, from where ‘No Tax Campaign' was started.

36. #% v — A, B 3R C, wHm & fim 7 aeeifes wm-wetes (99 19) W
fFu T 2 1 39 O W Frefafar e § 9eg § TRiEU 3R 39k §E AW
o=far W T T W AT I+1+1=3
A, FUE @F
B. TReaw ¥ o
C. TE-vfrem nfamk = af=m =W

g



frefefad w81 &1 wmm & B o e reAifrs taaete (72 19) W e faEl
# sifeq Fifaw i == 7w fafan Tel+1=3

(i) " — @ ¥ e A

(i) FEOE — FEEE T GEd

(iii) ~ 9REN — FEE T

Three features — A, B and C, are marked in the given political
outhne map of India (on page 19} Identify these features with the

help of the following information and write their correct names on
the lines marked in the map :

A, Coal mines

E. Hofrware Technology Park

C. Terminal Station of East-West Corridor
OR

Locate and label the following items with appropriate symbols on the
same given political outline map of India (on page 19) @

iy Salem — Iron and Steel Plant
i) Kakrapara — Nuclear Power Plant

(iii}  Paradip — Sea Port

TZ frifafan Fv4 @90 qlew Tanad & [ 57 FE0 35 #6036 &
W E

Note @ The following questions are for the Blind Candidates oniy, in
lew of Q. No. 35 and 36

35. 135.1) 9 TF F A TAI0, FE IAAE TP w0E w0 afiEwa e 1020 §
AT 7 |

(35.2) T9 TEX W AW FuAw, S SfeEwEen v oaa vt dt o I1+1=2

{35.1)  Name the place, where the Indian National Congress Session of
December 1920 was held.

13520 Name the city, where the Jallianwala Bagh incident took place,



36.

(36.1)
(36.2)
(36.3)

(36.1)
(36.2)

(36.3)

TN AR A TR S AR T § fga g 2
3IM T=9 F1 99 9950, F@ FE9N AHEE T g9 | 2 )
T FE A e T fga g 2 1+1+1

In which state is Salem Iron and Steel Plant located ?

Name the state, where Kakrapara nuclear power plant is
located.

In which state is the Paradip sea port located ?



For question no. 35 T E. 35 & fau

Outline Map of India (Political)
OA &1 T@T- T (TEHIS)

3 S e [ w - ow

i N tJf Ean
: . Bt
SN " \M“:&\\,k\n,g’)y
e \ A P Kl'n.r),&”\ cf AR S ) \ !
'\.E;—"""‘—'-—L- '/\ &g- \ ;‘:{A_’V,I\J?’(-) A _"ﬁ
: - '\3’—'*“‘—-—--—-;--"-"-,---'—\{w_qf__-__»”___ i‘vﬁ\—;}:'y—-'—‘

o

Scale 1:17,000,000 1 em = 170 kms
lar'n?on Conical m-memhle Projectio

n P
» [

=
R




For question no. 36

T H# 36 % fAm

QOutline Map of India (Political)
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